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QUESTION 1

choose one You enable Flashback Data Archive for a table for which you want to track and save all transactions for four
years. After some time, the requirement changes for keeping transactions from four to two years. 

You execute the following command to change the requirement: SQL> ALTER FLASHBACK ARCHIVE fdal MODIFY
RETENTION 2 YEAR; 

What is the outcome? 

A. All historical data older than two years, if any, is purged from the flashback archive FDA1. 

B. An error is returned because the retention period cannot be reduced. 

C. All the flashback data archives are purged and the subsequently created flashback archives are maintained for two
years 

D. All historical data older than two years, if any, is archived to flashback logs and the flashback archive is set to new
retention time. 

Correct Answer: A 

 

QUESTION 2

Which three methods can be used for heap table data migration after upgrading a database? (Choose three.) 

A. using Database Replay 

B. using SQL Developer 

C. using Oracle Data Pump 

D. using operating system file copy utilities 

E. using Database Upgrade Assistant 

F. using the CREATE TABLE AS SELECT SQL statement 

Correct Answer: BCF 

 

 

QUESTION 3

A redaction policy was added to the SAL column of the SCOTT.EMP table: 
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All users have their default set of system privileges. 

For which three situations will data not be redacted? (Choose three.) 

A. SYS sessions, regardless of the roles that are set in the session 

B. SYSTEM sessions, regardless of the roles that are set in the session 

C. SCOTT sessions, only if the MGR role is set in the session 

D. SCOTT sessions, only if the MGR role is granted to SCOTT 

E. SCOTT sessions, because he is the owner of the table 

F. SYSTEM session, only if the MGR role is set in the session 

Correct Answer: ABD 

 

 

QUESTION 4

Which three are true about Automatic Workload Repository (AWR) and Automatic Database Diagnostic Monitor (ADDM)
in an Oracle multitenant environment? (Choose three.) 

A. ADDM can run in a nonroot container. 

B. AWR snapshots can be created in CDB$ROOT. 

C. AWR reports can be generated while connected to any container. 

D. All AWR data is stored in the CDB$ROOT SYSAUX tablespace. 

E. AWR snapshots can be created in a PDB. 

F. No AWR data is stored in the CDB$ROOT SYSAUX tablespace. 

Correct Answer: ABE 

The CDB-level snapshot data is stored in the SYSAUX tablespace of a CDB root. The PDB-level snapshot data is
stored in the SYSAUX tablespace of a PDB. 

Starting with Oracle Database 12c, ADDM is enabled by default in the root container of a multitenant container database
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(CDB). Starting with Oracle Database 19c, you can also use ADDM in a pluggable database (PDB). 

 

QUESTION 5

Which two statements are true about encrypted backups performed by using RMAN? (Choose two) 

A. Transparent encryption of backups uses an encryption wallet. 

B. Image copy backups can be created by using password encryption. 

C. A password encryption of backups uses the password while creating and restoring backups. 

D. Encrypted backups can only be written to disk. 

E. A database uses the same encryption key for every encrypted backup. 

Correct Answer: AC 
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